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[> #v=1/%; =
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> subs (X=Z-c/3,XA3+C*XA2+a*X+b) ;
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> plot([T,P,Z=-0.015..0.015]) ;
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[> #c2r60
> alpha:=1.2008;beta:=84.033;R;
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[> with(plots) :
> plot([T,P,Z=-0.005..0.005]) ; P
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[> with(plots) :
> implicitplot (xA2/342+y*2/542=1,x=-3.1..3.1,y=-5.1..5.1) ;
> implicitplot3d(ZA3+A*Z+B=0,A=-3.1..3.1,B=-3.1..3.1,

3..3, grid-[30,30,401);
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[> AN:=plot([B,A,z=-1..1]):
[> #plot([BB,AA,z=-2..21);
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> discrim(Pol,2) ;
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> display (AN,CH) ;
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> solve (Pol2=0,X) ; B

> XA2+a*X+b=0;

a/2+sqrt ((-a/2) *2-b) ;

a/2-sqrt((-a/2)*2-b) ;

> (-a/2)*2-b;

1
~a*-s
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> simplify((-a/2)*2-b) ;
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> solve (X*2+subs ({b=1,a=0} ,a*X+b)=0,X) ;
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> subs ({b=1,a=0} ,-4*b+a*2) ; =
4
> solve (X*2+subs ({b=0,a=2} ,a*X+b)=0,X) ;
0.2
> subs ({b=0,a=2} ,~4*b+a*2) ;
4
> plot([X*2+subs ({b=1,a=0},a*X+b) ,X*2+subs ({b=0,a=2},a*X+b)],X=-3..3) ;
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> XA2+a*X+b=0;

> bi=xr2;

> plot([b,a,x=-3..31);
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